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SECTHN A (A0 mvarks)
Answer ALL the gueestaionsin ehiv section o the spunces provided.

Outline four sdvantages of elecingity ay o sonroe of power in the sociely, 14 minrk <)
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With the aid of o sketch, explaim the alternating corrent (AC) through a pure mdoctor,

{4 marks)
(4 marks)
Dretermime Lhe decmil equivalent Tor ench ol the tollowing number systems:
i F9& i {2 marks)
o
o
= P P i - T
iy L1000 1011, ¥ G {2 marks)
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Calculate each of the following hevadecimal anthmetic: newsspot.co.ke
(i) EAG a2 @ marks)
Giy €1 -3101, (2 marks)
. B
i v
s B3 o
i, A conductor wire of length 36 m has a resistivity of 6 x 107 €2 m and resistunce of 941
Determme the;
{1 cross sectional area of the wire; (2 mnrks)
(2 marks)
s Explain two methods used to epcode Binary Coded Drecimal (BCD) munbers, (4 marks)
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L8 Using twa's complement, delermine ROO0 1000, LEID 1T, {4 morks)

u, With the aid of & disgram, outling a typical construction amd lerminals of a NI'N transistor
showing the flow of current, (4 marks)

i
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SECTHON B 60 marks)
A veer gmy FOIWER guestions i this section in the spraces provided,

{1} Eaplain two disadvaniages of IMRAM as used in compulters. {4 marks)

(i) Difterenbiate bebween ford disk and ootical dive as vsed in compulers,
14 marks)

{3 marks)

() A potental difference of 5V 5 connected (o a anilorm resistance wire of length
1.8 moand cross sectional arca of 8 5 10" m” with 0.06 A of current Dowing
theough the wire. Dietermine resistivity of the wire, (d marks)

19207103
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{1} Chitline theee concenteation of Taitiee dielvots that afect the low lemperatre
resistivily. = {3 marks)
ohird  Explam twa types of charges it could he found o an atom, (4 mia ks)

19207163

Lt}

Figure | shows an arangement of logical gates. Constract a truth table showing
the outputs O, P oand ©) (5 marks)

Figure |
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() {1} Dreww an typieal graph showing a phasor diagiam of a sinusoidal wavefonn.
{4 marks)

=

Y resisior B

-

l. viltage of 4 Y peak {uﬁrmirnumj; (3 mrks)

i1} rl.‘_‘-,-:"‘;,.':.
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= Ta
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n power i B W milliwatis) b 4 [ marks)
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Ihi stmplify each of the following bnaey aonilmene operstons gooang vour sswer in ocial

evpuivalent
. Y RO 1000 + Loy 1108 (3 marts)
(i) 1ITonieg - 1111 0060 (3 marks)

= WSS L, I

14 ays of coping with challenges of emergimg trends m eleciromes.

(2 marks}

L} DifTerentiate betwoen sihoom and gormaninm sennconductor matermls,
L 4 marks)
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(1 mn:m

(i) (i) Chitline three characteristics ol a pure seonconductor

(3 marks)

—_—

iy Using the H.-map simplily the funcuon:

{5 marks)

s

= patoerert
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({51 (i A Techimicinn at Tepes Commpany Ll intends o familiarize e employees on
the different examples of RUMs used m companers. Chithine three examples
thiat canlid be mentioned, {3 marks)

. — . 3 . — e —

(i} A electnenl door s controdled by thres switehes A, Foand O, The door opens
whenever switches A, Boand C arc o the some positions. When A and O are in
saine positions, te door opens an condition dat switeh 13 I gk,

Diraw o truth table o represent the snfurmation. 14 marks)

1920/103 i Turn over
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